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(3)6 12+2=6 ' 7.5 28 35 42 49 63 5 4 mEmg L o1 36 P
5.4 = 4 5 5 X X+ = 58.74 D e s s o . Bk
6.2x5=10 5x2=10 10:2=5 10+ 5=2 e T ik 8346 6 4 L E—iRE
1o () b dx3eln (O L ) o ey ) ' 1.8 797 96 8 3 4
7. (1) 3x4=12 (H) #i4x3=12 (H) [ P A I L I SR 1 AP VANSR AR | R et 3663299 2 ,
(2) 12226 (41) D (MEEF) 42 18 24 45 32 6.9x3227 (L) L 26 463646 4
8. (1)3 18+6=3(4l) 54 81 64 21 48; T Sx630 (1) 30528 G5 ¢ 3.7x8=56 8x7=56 56+7=8 56+8=7
(2)2 18+9=2 (BL) 27 36 63 49 72 8.3x9=27 (#)  27+9=36 () | A TR 48:6<8 () A
. ! L ' 286 (4 54:6=9 (/4
(3)6 18+3=6(H) : 3.<1)5X9=45(#ﬂ)ﬁ9><5:45(#ﬂ) : %/\l}éf@gi'ﬂﬁjzlfi : 5. (1) 48+8=6 (1~) (2) (1)
9. (1) 18+6=3 | . L . : (3)9-6=3 (1~)  3x8=24 (1)
) : (2)9x9=81 (i) L= 0 0K A B . N
(2) 3x6=18 (JIK) 5 6x3=18 (JIK) | B ! S X Tod) Tx6ed) 8xO-T3 O x 8T L6.36+6=6 (H1)  6-4=2 (H1) 2x6=12 (14)
. "N e b4 (1) 6x8=48 (JG) Lo OxI= x 6= = = D5 9.3 7.4 85 6
10. (1)24+4=6 (1) (2)8+4=2 : ) st (o) dxomse ) } 330 54 11 15 45 64 48 18 21 24 ;2 ; ;
11 (1)40:5=8 (2)3x5=15( H)m5x3=15(H) XER RS A0 e - L ETRA
12. (1) 24+3=8  (2)20+4=5 () 56"36:92(75)4 B s a0 40 177335387
(3) 4% 7=28 (5C) (4) W% E (3) 7%9=63 (JC) 63>60 63-60=3 (JC) : 6.% 7'% : Z.W%
R, 8538 : | 35687 (4R)
"._,. -
CHFRES (F) BS



4. (1) 24+3=8 (14>)
5.(1)24+4=6 (N)

(2)24+4=6 (1)
(2)24+8=3 ()

6.3

F =R

1.

2. (1) 6x8=48 (\) 3 8x6=48 ( \)
(2)32+4=8 (#) (3)28+7=4

3. (1)3%x9=27 (JC) 3x4=12 (J0)
27+12=39 (Jt)
(2)4x8=32 (J&) 32+:4=8 ()
(3)50-26=24 (JG) 24+4=6 (%)

4.36+6=6 (&) 6x2=12 (JG)

5.8 9

EuiEd)

1. (1)4 8 32 4 8 (2)thnt=
(3)32 9 (4)8 (5)6 6
(6)7 35 (7)8

26 59 27 287 9 256 6 1

34 6 55 2 4

4. (1) 28+7=4 (4~)
(2) 6x5=30 (4>)

5.72+8=9 (JG)

6.8 4 6 8 3

30 >28 fiE.

7.2 6;3 954 7;5 8

SRIFM

I (AIAET) 36 6x6=36 4x9=36; 4 36+6=6
36+4=9

6x9=54 9x6=54 54+6=9 54+9=6
36 54 7 5 4 53

4- = x o+ = x = +(Hx)
5.(1)9 36 6 36 (2)5 15 3 18
(3)6 12 10 2

6.6x4=24 4x6=24 24:4=6 24:+6=4 PUR_TNY
7.12 4x3=12 3x4=12 2x6=12;

6 4 12:4=3 12:6=2
8. (1)36+6=6 (1) (2)36+9=4 (1)
9. (1)4x2=8 (7)) (2)64+8=8
(3)20+4=5 (4>)
10. (1) 4x8=32 (JC)
(2)5%x9=45 (JL) 4540 A,
(3)56+8=7 (&)
(1) 21+3=7 (&) 21+7=3 (1)

MORTRESE T4 A, KT 74 Walgesk THF,
LT 34

(2) mg
12. %
BREZ
E—iRn
1.

2.6 24 28 7; 27 32 8 40;

5 15 12 3;4 36 40 5
318 20 8 5 5 49 7 4
4.< > > < < =

5.54 64 9 o4

3. (1) 24+6=4 (4)
(2)2 12+6=2
4 WFETE: 370=3041 30+5=6 (f1)
W 290 =2041 20+4=5 (ff)
6>5  SEIKAME L,
5. (1) 6x2=12 (JG)
(3) 12+2=6 (4~)
6.1+4=5 (H) 20+5=4 (4>)

F =Rt
1.13 5 50
2,470 4G5

24+3=8 (k)

(2) 12+6=2

5JC5f1 6JC5f0

3. (1) 4x6=24 (N) 24522 fig.
(2) 5%x8=40 (JC) 40<50 f,
4. (1) 8+4=2
(2)15+5=3 (&) 15+3=5(4) fhvEesk

TEE, LT 3% WAIREL TR, KT 54
(3) mg

5.48 7C

2 iR AT

Lok K Ok ok DK

2.7 4 3

3WE AW

5. (1) 28+25+37=90 (k)  (2) 28+25-37=16 (K )

6. Al $7m: 2403 —41, AD54~—41,40 + 5=8( 41 ),
feJa— AR A, BTRIAE 40 NEIE RS 8 s
—EDE, jEA, ]

S S

(2)6 5 30(sk5 6 30)

(3) Wk >k

(4) 1 75 W W= 7 AN

(5)32 2 56 3 (6)4 6 6

(7) + x + -
3.5x6=30 6x5=30 30+5=6 30=6=5(EZEANME—)
4. W

5. (1) 4x9=36 (1)
6.54-15+54=93 (%)
7.24+:6=4 (i) 24+3=8 (/)
8. (1) 7x8=56 (B) (2)32+8=4
9. (1) 4x8=32(J0) fHERIIEAME—, B

(2) 12+4=3 (4~)  (3) K

ip o PNEIES

. (1)100 (2)56 63 (3)32 2

(4)9 4 974 (k4 9 43F9)

(5)6 (6)7 5 35(mks5 7 35)

(7) HOK K K (8)8 4 5 71 9 35
(9)10 (10)2 1 5 4 2(JEMEEREAME—)
2.35 2 88 72 Nk
3.4 5 5454545220 (%)
5x4=20 (4>) 54 x5=20 (4>)
4. (1) mEwE 12+2=6 (41>)

(2) WEm 3x3=9 (1)
5.100-42-35=23 (JG)
6. (1) 45-17=28 (%)
3x9=27 ()

(2)36+6=6 (T)

(2)28+4=7 (%)

~

2. W% 3.8x2=16 (1) 6.4x7=28 ( \) 1. (ANFfEE)S4 2 5 24 35,8 63 1 4 2 8. (1) 4x8=32(T) (2)24+8=3
4.M 5.3x9=27 72+9=8 7.7x8=56 (JG) 8x9=72 (JG) 32 30 48 8 27 9. (1)5x9=45 () (2) 10+5=2 (1)
B AR R 8. (1)8 6 (2)7 9 2. (1)3 4 4+4+4=12 (%) (3) W4
LOWTFAELE)6 9 7 8 12 85 8 12 6 1 #—igp Ax 3212 (56) T 3xdm12 (56)
1020 1315 30 99 el ATILET DHIT/AZLT 12 =t+—
2.3x8=24 8x3=24 24:3=8 24:8=3; 2.32 4244+ 18=74 (F)
84
THFRES () BS





